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1.Ascaris lumbricaoides is an example of an endoparasite. The name Ascaris refer to (1mk)

3.An experiment was set up as shown below. Use it to answer the following questions

l

e Glass rod

Visking tubing

Sucrose

Distilled water

The set up was left for 30 minutes.
a).State the expected results (2mks)
b) Explain the observation above (2mks)
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4 a. Photosynthesis take place in two stages . Name the part of the chloroplast cohere

I Light stage occurs (1mk)

b.Use the equation below to answer the following question

K .
Co2+ H0 « - = CgH1206 + 02+ ATP

i..Identify process K and L (2mks)

K = o e mmmmmmmmmmmmmmmmmmmmmmmmmm
| mm o e — ——

5ai) Define the following terms (3mks)

i).Mastication

iii.Peristalysis
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iii).Churning

6a.State the role of the following plant vessels
) Xylem (1mk)
if). Phloem (1mk)
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i.From which plant organ was the section obtained (1mk)

J o e e
K e m e e e e e
L = o m e o
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10.The chart below shows a feeding relationship in a certain ecosystem

Lqcust » lizards » Snakes
v
Grass Hawks
Mice > Domestic cats

a. Construct two food chains ending with a tertiary consumer in each case (2mks)
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c. Name secondary consumers in the food web (2mks)

bi).Explain why pregnancy persists even when ovaries are removed after the fourth month of
pregnancy (2mks)
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i1).Why do pregnant women excrete less urea (2mks)

12.
&
7AN
ai. Suggest the types of germination exhibited by the seedling above (1mks)
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15a.Draw and label the structure of a gill (3mks)

b. Explain the counter current follow system across the gills (2mks)

17.The equation below shows an oxidation reaction of food substances
5 Cs1HogO6 + 1450,—»102 CO2 + 98 H20 + energy

a. Determine respiratory quotient of the oxidation of food substance (2mks)

DOWNLOAD MORE RESOURCES LIKE THIS ON ECOLEBOOKS.COM



https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com

Ecolebooks.com

b. Identify the food substance (1mk)

A
18.Glucose ——— Glycogen (2mks)
B
Name i. A-------- oo
Il Bmmmmm e e

19.The figure below show a portion of nucleic acid
C-U-G-C

) Name the nucleic acid (1mk)

i1).Give a reason (1mk)
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b.State two examples of analogous structures (2mks)

21.In mice the allele for black fur is dominat to the allele for brown fur.

What percentage offspring would have brown fur from a cross between hetero zygous black
mice and brown mice. Show your working. Use letter B to represent the allele for black
colour (4mks)

22.Significance of the following practices during preparation of temporary slide (2mks)
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i).Staining.

ii. Cutting thin section

24.0ther than using quadrant method gives one methods of estimating population of grass

(1mk)
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